1290 ZE H| R 5t W 457 2 ) W 57 2 ) BYEHITIRRESM

Thread turning system Index thread turning tool system

BYEHTLREARS BN EHTARERS
Thread turning tool system Thread turning tool system — -
HIREL PR AR PRI

1p  Internal Thread Internal Thread [l yap  Internal Thread Internal Thread

s

ZH)
TIH

ZHl
TIHA

B69

(o2

5/16P

csv csv

EANK CSV. 18P . BRI N BRATIA CsV. ey . )
[ E R SMBEL| | ooz \ROSTE BT | s oz MBS Eninodstue SRS %
$)$ THEE External Thread T HAEH External Thread T EEEE External Thread 3 E: al Thread

R DIN405

Internal Thread

PIERL

718 PR

Internal Thread Internal Thread

B69 R0.22105  |nternal Thread
Y RO. 97P 30"
DS \ DS
TIHH ; ”l / TIHH
2 Py e o AMRE . | mozsssrr sz
EE IR External Thread External Thread External Thread IEE

HET ML

B69 Internal Thread
S

o

2] HE

Internal Thread

o2

Internal Thread

I
I
|
|
|
|
|
|
I
PR : J18
I
I
I
I
|
|
|
|

@

ER7IA CSv. AT CSV. BRI CSV.
- RR oz AR oz 85| | nmro o s —
] AEHEE AEHAEE External Thread | | 2emsm External Thread B
|
Internal Thread [l EFYSS Internal Thread —_—
T 30"
=]

) o)
@ o
EMITIA C WMIA CsV.

oo | 0.26384P N | | nmrere o ’ shigey
Pt i3 EX) External Thread NEHEIER External Thread

0.16316P 3 7
External Thread External Thread

Internal Thread B69
307

Small parts
Precision thread

]
] |
' ' B
15N | | %2
1 ] I
o | | | \ L
mI xternal Thread IR ) | | | | UR! ! AAELTA ! mI
I ! I I maaEn | s |
;ﬁ% : ﬁtgﬁ : | | [ Utype Internal | Special for | 7?%
i N | | Thread turning tool Internal Thre: e
= SRR y N | e : | | X | : : p=xia
External Threading WERS Lateral Side | | ! 1 1 1 1
_eE - ‘ small parts I‘ Srmllr["hw's \ | | I | 1 1 ey
Srecision thread |Precision tread
Ep ) : ! : : : I I | ip
e S 00000 eeeolwmess] oo —- - - - | - T ! ! Rk
I I um | ommEER | | |
I Tgﬁ 1 SMBLIET) : SMESET) | |
= ! - | J type External Sp or oil pipe =
SN | nme mEEE | U 1 e, | ! ! SME
*H ! ki . il IS ! ! E37)
| E |
I
] ]
|
|

maL . '

AL
FH

i |

PIFLIR AL EHEEE]]

EATIK TTX
Internal Threading f\\!‘!fxilﬂl“ nERT 3

EmakR 22027ER,
TR 025140 g
£ 4 IR EE ) b

L

Py RS

[—————————————————F

Elﬂn B72 AB22

SRR — Il

HE Extornal Thresding E W
tﬂg | T T T Tttt T s T T T T ! BREK TTX. ERITIH TTX BADK TKFT. BRANK TTP, *}]E

SR ER (0@

! wrsgEn | nER 07060 ApmEN | DERS 0o-016
e S

TR a-020
oo iuming | B BE I ML

Fm———— e ——————

R+ 0100125 | AR
L swonol g mEm T Exeratvreza v | 177 p B o | DSABENBE
R KTKFSL DS-TTPL
B74 B72 ABO6
il
ERAA ERL. | EAZIK ERL EAAA RL. | ERAK R [ EARH R | ERDR R | ERAA R 7 EANA TRET. | EAK TTR AR UNR
SRR 10-032 [ IR D16-032 R 06-025 | NARS 06-015 | NART 025-050 | NAERT 07-012 | NERT 20-025 WAL | R a2 ABEEH [ nERS 10 NART 019-025 PILBEEH | 1ER T 032-0 DR 040-080 | DR 80
ey T | shBe/miEnT 4RAL T BB T ARENT AESMT HRENT e vole s urnin | A 0 Exenawreacunins | gnaeesss | osneasme e hole iveadtaning | A4S BAL ERERSS AREHBL




1240 ZF HI R 45 B2 47 22 | W 57 2 ) SNEIMFLER S E T

Thread turning system External / internal thread turning tool

p— 1 B — g A
SER % i o B P2 st o A 592808588
i - | Cutting Environment ¢ ) x”TME@ﬂ‘EﬂgﬁﬁiﬁﬁﬁEE
Steel 4 1 ‘ | El oV vexwue
ZEH N e L FER Stainless Steel © vuBOOY ZHI
Hix Iron e v v xeee
j] *ﬁ g|\gggi$§|] ' o SRR BB R Aluminum/Copper/MagnesiumiZinc/Plastic/Wood 0 ) ﬂ *ﬁ
External Thread Turning = RS BRASMEALSE Carbide y o P
csVv - Internal Thread HERS S S Titanium/Superalloy/Carbon Fiber o % e CcSsVv
Tag 0= JIK (Inserts): A27/A51-A64  BE# (Toolholder Parts): PO1-P04 ERAE (R)  R-Type A
i SAGE LTS
373 Order | Price . . - Internal Thread K
{ -
<y Number| (RMB
7a (RMB) AEE smgmT 18
SER/L1010H11 10 | 10 | 100 | 16 | 10 | 12 o [ e (232100 160 el thrond processing
DS SER/L1212H11 12 12 | 100 | 16 | 12 | 16 | 11ERL. M2.5x6 T8 |e|e ;g;lgg 148 nims i DS
SER/L1616H11 16 100 20 16 20 o | e 5 o
71 SER/L1212H16 12 12 100 20 12 18 e | @ 232104 150 [u] T1H
SER/L1616H16 16 16 100 20 16 20 e | @ [232106| 150 R - HEES YR | 4285 R~ X0 © cowo
22UER 6.0TR as0 | 6o |s X y § ] %¥%2..8.3288
IEE SERIL2020K16 20 | 20 | 125 | 22 | 20 | 25 | 16ER/L.. | MO0 | M3sx12 | M3xeC | T15 | e | e [232108 150 70TR proll R Y o Sgouticalo peptn) pien | Dimension (nm)_|@ 2288225 288 IEE
HT) SER/L2525M16 25 | 25 | 150 | 22 | 25 | 32 o | o [232110] 200 P p—— py 5. v Hmin [ JoaT L Tre T TF H 7
SER/L3225P16 32 | 32 [ 170 | 25 | 32 | 32 o | o [232112| 265 in 90TR T e . 22UER 5.0 SAGE P20 R I 1 O O . e
Y SER/L2020K22 20 20 125 26 20 32 P — 120 e | ® |232113| 200 2 100 TR 100 .o 6.0 SAGE 60 075 . .o Y
T SER/L2525M22 25 | 25 | 150 | 26 | 25 | 32 | 22ERL. | SNEBTL | MeSx12 | Maxec | fo || e [232114] 200 T
SER/L3225P22 32 | 32 | 170 | 28 | 32 | 32 o | o [232116] 265 SUER
il n ki
FHI EH|
=] - A =]
w ShIRLZE A fl A b w
A External Thread Turning @ ZEH
| L
INE CER — 0=~ 71K (Inserts): A59-A64/B70  EE# (Toolholder Parts): P01-P04 ERAE (R) R-Type INE
4 N :I g
1845 Steel —‘ i | Number| (RMB) e
33 L [ 33
_— SUER/L 3232P22| 32 32 | 170 32 37 e | 0 (232230[ 800 _—
IJ\ﬂ, Shi % 10°% o 4040R22| 40 40 | 200 40 45 22UE.. | M4x14 T15 | STU22 M3x5 PL25 o | o (232232 1000 IJ\?L
mT Extemal Thicad Turning T =] 3232P27| 32 | 32 | 170 | 32 | 37 o | o [232234] 800 mT
- 4040R27 | 40 40 | 200 40 45 27UE.. | M6x16 T20 | STU27 M3x5 PL25 | e | © [232236| 1000
- A27/A51-AB4  EE# (Toolholder Parts): P01-P04 ERAE (R)  R-Type 5050827 | 50 50 | 250 | 50 55 e | 0 (232238 1200 HIE
éﬁ e (RMB DIN103 2?}2
umoer ( ) Internal Thread
Jok = CER/L1616H16 e | @ |232200/ 165 123z
CER/L2020K16 20 20 125 22 20 25 STM1603R T15 o | @ 23220 180
i?_ CERIL2525M16 | 25 | 25 | 150 22 | 25 | 32 | '6ER/L-|Smmeost | M3.5<12 | HL1B08 | MLOS20| o) o5 | o | o |232204) 220 i?—
> CER/L3225P16 32 32 170 25 32 32 e | @ |232206| 300 jh AR >
_ CER/L2525M22 | 25 25 | 150 | 26 25 32 STM22T3R T15 o | @ [232208 220 SAGE External Thread
g SR 32 | 32 [ 170 | 28 | 32 | 32 |2?2ERL-|Smigora | M4.5x14 | HLT8O8 |MLOS20 | by o5 | o | @ |232210 300 pm—— .
.
.$ﬁ|] Internal thread processing .$i§|]
MBS REJE 1 R 325-80382388
Specification Septh| Pitch Dimension (mm) (92285222822
[u] Hmin [ (mm) [¢a] L A s [F[|"CONNNNNNNN
MRS VIR | @56 Rt xo_ g cogg = . oLl s ML
Specification Depth| Pitcr Dimension (mm) 3558;S§§§m$ i 22UIR S'%; W‘Jf o : . 0 N % ]
Tul Hmin [ (mm) [¢a [ L [re [ a [ F [FOONNNNNNNN - £ & - - -
22UR 5.0 SAGE 50 . ee ﬁ ZUR SR v
B8-SER 6.0 SAGE o [21]% = ol I B 10.0 TR
Ll
Steel aﬁ
SUNR
I
PP T I 0 sceeoonie S o N N (R T e frmmrm oo oot §- |@d
External Thread Turning I
U 71K (Inserts): A27/A51-A64 B4 (Toolholder Parts): P01-P04 ERAE (R) R-Type 4R % -—U-| L Dmin
Order | Price Internal Thread Turning e R :
ity T H (RMB) 0= 71K (Inserts): A59-A64/B70  EF# (Toolholder Parts): P01-P04 B R e i
i B-SER/L1010H16 200 Order | Price o

B-SERIL1212H16 N 150 Number| (RMB)
B-SER/L1616H16 stmteoaL. | M3.5¢12 150 SUNRIL 0032522| 32 | 32 | 250 | 60 | 255 232240 1000
B-SERIL2020K16 60 oieT22 RO Mo K oA REomIETs 20UE.. | Mdx14 | T15 |STU22 | M3x5 | PL25 s BB
B-SER/L2525M16 220

0032827 | 32 32 | 250 | 60 |24.7
0040727 | 40 40 | 300 | 60 |29.4
0050U27 | 50 50 | 350 | 75 | 34.3
0060V27 | 60 60 | 400 | 75 | 39.3

232244 1000
232245 1200
232246 1500
232247| 2000

27UE.. | M6x16 T20 | STU27 | M3x5 PL25

© 0 0 0|00
o0 o0 o0 o0|oo




ZHl
TIHA

csv
4
ER
TR

DS
T1HE
i
HETD
Y
T8
BT
FH

S
ZH)

Rk
FH

)48
L

3y T
k|

INE

BY TR
$RYUR N — R T

U240 Z HI R 4

Thread turning system

PIREL

p  Interal Thread

i

Thread Application: General Industry

st

)

8 NIAR®KKR  Tool installation style

12 A HI

So| o R o B L329-808888
5 B cutting Environment ¢ . = L‘Tﬁfﬂﬁj}’ oBB=Srag=2
P|® Steel o0 vezewe
M | 758 Stainless Steel © voBOOO
K | o Iron ® v v xeve
N | 848 %9218 Kt Aluminum/Copper/Magnesium/Zinc/Pl o eOOO0OO
S | BE&&MFAR Carbids/Powder Matallurgy o 0 B

/%R A R/ Titanium/Superalloy/Carbon Fiber lo PO

2

NRZHMR  Tool installation style

A 3.18 KTTXR.. A KTTXL.
vs B35 Rt = = S
BT Pitch of Screw| Dimension (mm) iz RS Pitch of Screw| Dimension (mm)
e o mm) [ i) | re [s1]s2] A Jea g e (mm) [ i) [ re [s1]s2] A Jea
TTX32R 6000 12 TTX32L 6000 1
6000S 12 6000 12
60005 60005 12
600055 600055 bis2s| 4.4
6001 6001
_gor 6002 6002
O760" oo 6003
= IR5E R~ = R~ o9
RS Pitch of Screw| Dimension (mm) AtELS Dimension (mm) 8%285§§§§§§
Specification | ) e [s1]s2] A Specification e s (52 2 [90 [FOONNNNNNAN
TTX32R 5501 2810 | 04 [ 1.1 f 05 | 25| 44 3 Iy TTX32L 5501 1.1 i
5502 10 [ 02| 11 [ 0s [* fg 5502 1
©=55°
KTTXR —
= N -
e N - A
Steel
| L |
SeRs N T S
External Thread Turning
L1 ERAEE (R) R-Type
[S° 71K (Inserts): A51-A54/B71  EB# (Toolholder Parts): PO1-P04
Order | Price
Number| (RMB)
KTTXR/L1010F32 e | @ [232500/ 200
KTTXR/L1212H32| 12 12 100 20 12 16 e | @ |23250. 165
KTTXRIL1616H32| 16 | 16 | 100 | 20 16 | 20 | |"X%2- M4x10 o | o [232504 165
KTTXR/L2020K32| 20 | 20 | 125 | 22 | 20 | 25 12.5 15 || e 232506 180
KTTXR/L2020K43| 20 20 125 28 20 25 e | @ |232508| 180
KTTXR/L2525M43| 25 25 150 30 25 32 TT43.. M5x12 e | @ |232510| 220
KTTXR/L3232P43 | 32 32 170 30 32 40 e | @ |232512| 300

KTTXSL #
KTTXSL Type

0S=™ 71K (Inserts): A51-A54/B71

KTTXSR/L 1010H16

1212H16
1616H16
2020K16
2525M16

cococon

I

RGN T

Threading

FAH (Toolholder Parts): PO1-P04

10 10 100 12 16
12 12 100 16 20
16 16 100 20 24
20 20 125 25 30
25 25 150 32 35

TTX32..

2 L1
f— 1
ERA®E (R)  R-Type
Order Price
Number (RMB)
o | o | 232513 300
o | e | 232514 300
T15 M4.0x10 | o ° 232515 300
o | e | 232516 350
o | o | 232517 400

IR FLIZ L 2% T]

External / internal thread turning tool

55 = © covo
INEE 5 in 2o -8eB8EE
5 B | cutting Environment ¢y ) w Tezam [REgzeIEn s
P|® Steel o0 vezvee
M | F&5®m Stainless Steel o vosoOO
BT R el o REBD
v R AR, — B Al N | seim-g/s s x4 Auminunm/CopperMagnesiumiZinc/Plastic/Wood o $000000
BRI — T Qe HER
Thread Application: General Industry BmRAL/BAE Titanium/Superalloy/Carbon Fiber 0 x e
NRERHR e
Tool installation style st st Tool installation style
i@l K| %&u ié. e ﬁimn
s2re 5.0 ' s2re 50 B
=
TON =
Fig.1 TKFT12R. Fig.2 TKFT16R. KTKFR.. KTKFSL.. Fig.1 TKFT12L. Fig.2 TKFT16L. KTKFL.. KTKFSR..
z
im arne _ awBE : T
ES Pitch of Screw Pitch of Screw| Dimension (mm)
g Specification ) | o) Specification mm) | (o) | re [s1]s2] a [Fie
TKFT12R  A6000 B TKFT12L  A6000 0206 | 6448 04
B6000 . B6000 0208 | 6448 1
ABO005 . AB0005 25 17 [ 08 | 60r
B60005 . B60005 00 08 [ 17
N6001 . N60O1 1 [125] 125
TKFT16R  A6000 o« AB000
B6000 . HE B6000
ABO005 o . AB0005 o | 2
B60005 . TKFT16L  B60005
N6001 . N6001
TKFT12R  A55005 | eee o ', | TKFT12L  AS5005 oos| 17|08 | .| eee o
B55005 eee i B55005 00 05 [ 17 cee o
m
TKFT16R  A55005 B eee o T| TKFT16L  A55005
B55005 eee o B55005
] ]
B KTKFR # -’ 1 ‘ B KTKFSL &
KTKFR Type E ' [ﬁ Tﬁ KTKFSL Type
I/ HEEMT BYEEIMT I/ R HEHMT BRI T
Grooving/Cut-off Back Turning Threading Grooving/Cut-off Back Turning Threading
T
| M— R
LLI i | l ® hl 1"”
o
1%,
L1
s] Q& @b |H1 T
/|
L2 = B
L1 = 1 ‘ ]
)
ERsE (R)  R-Type t ERAEB (R) R-Type

YR/ AR ER M I A
Grooving/Cut-off/Back Turning/Threading

IS~ 71K (Inserts): A51-A54/B72

FE 4 (Toolholder Parts): PO1-P04

Order Price
Number (RMB)
KTKFR/L 0808K-12 8 8 125 | 15 6 8 e | ® | 206100 260
1010k-12 | 10 10 | 125 | 15 6 10 |y TkF.A2R. e | o | 206102 200
1212F-12 12 12 | 85 - 6 12 | = TKFBLA2R. | 1o Masxg | ® | ® | 206104 150
1212M-12 | 12 12 | 150 - 6 12 | 8B4 TKFT.12R.. e | o | 206106 160
1616M-12 | 16 16 | 150 - 6 16 e | o | 206108 140
KTKFR/L "0808K-16 8 8 125 | 15 8 8 e | ®| 206110 260
1010K-16 10 10 125 20 8 10 Y18 TKF..12R.. o | o 206112 200
1212F-16 12 12 | 85 - 8 12 | E# TKFB.12R T20 M4.5x8 | o | o | 206114 150
1212M-16 | 12 12 | 150 - 8 12 | B4 TKFT.A2R. o | | 206116 160
1616M-16 | 16 16 | 150 - 8 16 o | o | 206118 140
KTKFSRIL 1010JX12 | 10 10 | 120 | 6.0 2 I e | ® | 206121 300
1B TKF..12R..
1212412 | 12 12 | 120 | 6.0 0 4 | ZE Tl 120 Mascs | ® | ®| 208123 300
1616JX12 | 16 16 | 120 | 6.0 0 2 |G TRET 2R e | o | 206125 300
2020Jx12 | 20 20 | 120 | 6.0 0 0 o | o | 206127 300
KTKFSR/L 1010JX16 | 10 10 | 120 | 8.0 2 8 | 1em1om e | ® | 206129 300
¥ TKF..12R..
1212Jx16 | 12 12 | 120 | 8.0 0 6 | g krsazr. | T20 Masg | ® | ® | 206131 300
1616JX16 | 16 16 | 120 | 8.0 0 4 | e TKFT.12R. o | | 206133 300
20200X16 | 20 20 | 120 | 8.0 0 2 o | o | 206135 300

ZH)
TIH

csv
4
£
TR

DS
71
E@
H 7

B
ZEH)

AL
FH

&
Pl

i T
P&



© B EHI RS r 2o W w INFLIEN ZET]
M Z G Thread turning system Ejg gl $ ﬁlj Ejg gI $ ﬁlj External / internal thread turning tool

_ y 1, . l - g ooes
% o 8 i o Lo, O AN, | 32s:8-3588 EZL o wmms ® SR © A |L325-808888
2 o Amscan e Zom BRBRESRARAR B cumenromen o mamenn saze PBBRRRRARSS
P|® v vervue K] = v vervev
- P % . SRR ; u | o o ovscoo [T
JIHR BY TR K| o ton cp0En BRIIR K| o on DONCICTITIN 1 15
Y F L Al N| i@ a2/88 &H Auminum/CopporiMagnesiumizinc/Plasti o EEEEET) 9 [ SFde . — BB T N | 88/ B8R A Auminum/Copper/Magnesium/Zinc/Plasiic/Wood o 0000000
,‘giﬁﬁﬁ ﬁﬁk f‘]ﬁIJ.L s | araemras s N <N B < LR R : X S | mRaSmFAS tallurg o % e
csv Thread Application: General Industry o wg?ses/a;mg e m_‘m . o K Thread Application: General Industry B smmasmae TitaniumiSuperalloy/Carbon Fiber o x e csVv
%ﬁ EL et ll %% 55° ki
AN ° 24 e o ] FIERL . 7 nternal Thread
k=t Al 60 ) Internal Thread 4l 55 ) FRLIE | ernal Thread A%l 60° E P 'P o %g
DS E DS
ﬂﬁ 1188 shaRL SVNR..
SVER.. External Thread SVER.. SVNR. ﬂm
MiEE S . =
EHE maEns miEus Specification ich Dimension (mm) I amEs @
H7) Specification Specification R I RERIEAIR " 3 Specification priss
[VER] mm) H re L Tl A [VER] 16VNR AG60 N 3 [VNR]
16VER AGE0 007 1001SO : 16VNR  AGS5
YiH 1001SO o7 [oor N I 1OVER _AGSS 150180 I : Vi
Wk ;53:28 15 | 10 |o , . .o 27VER V55 ﬁgg:gg . 27VNR X\i/s T
. 0 2 13 o . .o aw
—_— h 250150 25 | 15 o .o 3w 300180 aw
pos 300150 0 | 16 [0z o ee 25 : e
iﬁlél] ! W 22VNR  400ISO o e B
Al 22VER  400ISO o | 20 s 5001SO 9 |27 51 . .o W
L= 500150 Dl o = EC : 6001SO 10 E ZEHI
6001SO 60 | 2 o ACME 27VNR V60 B
o e
)'Etll 27VER V60 6090| - |os7 .« .o 800ISO E 27 | 67 15876 o e =
ZEHl 8001SO 0 | - o7 |67 [issrfe3s 1B 10,0150 o |- 10K % ¥l
10.01S0 w00 | - o ee
INE INR
&
t}]g SVER.. «t}]E
ot Anrs DIN103 ey
lgéi Specification )%; Internal Thread Specification 1?21
RY e Ay
DIN10 > VERN s [VNR]
- = PRSI 22VER B6ACME + 22VNR  6ACME 5 D
g\ ?l. ‘v fore Internal Thread H 5ACME 9d 5ACMI 5 29 | a9 |127] 5 N N . /J\ ?L
nT f 4ACME 4ACME ) o .o mT
m— iw 27VER  35ACME 03 : . e AAS 27VNR  3.5ACME a5 (R0 [P O L o ee | M—
btia sver M 3ACME | o . .o 3ACME 3 al e . .o KT
. T p
k=43 i
"%
mEwe T R+ PPN SAGE ABBS B R+
128 . Specification Pitch Dimension (mm) 02285822238 . el Pitch Densen o o 128
E7] E [VER] mm | A Jre [ L] 7] A [ga|sCCNNNNNNAN t [VNR] @m| 7 [re]c A z7
% 3 22VER 4.0TR .« ee 22UNR  40TR 0 o1 A S
Rk 5.0TR : w0 |07|s o e i“ . 5.0TR 50 01| 22 [ a0 |27 jd Je Sk
6.0TR 69 PR il 6.0TR 60 o
SVER. T
- 27VER 60TR . o ee 27VNR  6.0TR 60
IME 7.0TR 0 . .o 23 R~ xo_ 9 coeg 7.0TR e * X2--8,3888 SNE
) 80TR o Lol o ee Pitch Dimension (mm hzzg58p238¢8 i 8.0TR 89 o7 158 - Pitch Dimension (mm) Skasesiafss |
o | s =T o] Tre [T 7 T Jao PobRRRRARRR ) o | o - Lol L
12.0TR 120 o ee 27VER 8.0 SAGE 80 ‘ NE ;-“ o763 e e 12.0TR 120 . 27UNR 8.0 SAGE 80 [o2 5 . ee
AFL A FL
FH sver SVNR Z%FT) E3T]
RE Vertical
5 3
t
D e o pors o
SR ZE 1) ‘ MFLIRS L Y
N - Internal Thread Turning
External Thread Turning 'I I 5 _
pa X 0= 71K (Inserts): A51-A62/B73 R # (Toolholder Parts): P01-P04 BRAE (R)  R-Type
oM u BRAIE (R) RType — 71K Insert 924 Screw #FPhrench i
2l 05> 71K (Inserts): A51-A62/B73  FRLH (Toolholder Parts): PO1-PO4 pLLEE) R+ Dimensions S Stock o
Ordering code du
TmE s R~} Dimensions insert | 482 Screw | etk Clamp | Rtiscrew | #FWench | Stock | orger | Price oDmn | ed | f L U H W ~~ [R[L
" Orderng code &; m (RMB) SVNRIL 0020Q16 24 [ 20 [13.6] 180 | 20 | 18 [3.65 o | ©[231600] 180
i E h | b L] |hm]| ¢ RIL 0025R16 29 | 25 (161|200 | 20 | 23 |3.65| 16VNRIL.. M3.5x10 T15 o | o [231602 280 HE
1 SVER/L 2020K22 20 20 125 | 28 20 25 2OVERIL. | M4.5x14 e | @ [232400/ 200 0032516 36 32 | 19.6 | 250 | 32 30 | 3.65 e | ® [231604] 450 1
2525M22 25 | 25 | 150 | 30 | 25 | 30 - M4 o | o (232402 300 SVNRIL 0025R22 32 | 25 |17.5| 200 | 20 | 23 | 4.76 o | o [231606 300 h
SVERIL 2525M27-6 | 25 | 25 | 150 | 35 25 | 30 120 | @ | [232404 400 0032522 39 | 32 [21.0| 250 | 30 | 30 |4.76| 22VNR/L. Ma.5x12 20 o | o 231608 500
3232P27-6 | 32 | 32 | 170 | 35 | 32 | 36 plao ol [232406] 500 SVNRIL 00325276 41 | 32 225|250 | 32 | 30 | 6.4 o | ¢ [231610] 600
3232P27-8 | 32 | 32 170 | 35 | 32 | 36 o | e [232408 500 0040T27-6 50 | 40 |28.5| 300 | 40 | 38 | 6.4 o | e (231612 800
3232P27-10| 32 32 170 | 35 32 36 |27VER/L..| M6x20 HL1814 MI0620 e | @ 232410/ 500 0040T27-8 50 40 | 28.5| 300 | 40 38 8.7 27VNRIL M6.0x20 120 e | ® |231614] 800
4040R27-6 40 40 200 | 35 40 45 e | @ (232412 600 0040U27-10 50 40 | 28.5| 350 | 40 38 - - . e | @ [231616| 800
4040R27-8 | 40 | 40 | 200 | 35 | 40 | 45 o | o (232414 600 0050U27-8 60 | 50 |33.5|350 | 50 | 48 | 8.7 o | o (231618 1000
4040R27-10| 40 | 40 | 200 | 35 | 40 | 45 o | e [232416 600 0050U27-10 | 60 | 50 | 33.5| 350 | 50 | 48 - o | @ [231620 1000




9240 H| R 4t B 47 28§l W8 47 22 1)) SN B/ FLIR L2 T

Thread turning system External / internal thread turning tool

STIR AFLF 7] 2A#l/3H) 60°/55° Internal Hole Thread Processing STIR #WF7] 30° 30° Internal Hole Thread Processing

SNR SIR..C
s B N
Steel Carbide Fl Q N
) T £
n*ﬁ R L2
CSV  T.sNR csv
%ﬁ R SE3
Spring SEE-£ &) = TR
718 Steel Internal Thread Turning BRAE R)  RType J18
DS IS5 71K (Inserts): A27/A51-A64  FBE# (Toolholder Parts): P01-P04 g% Ee nIEG :
g &5 EERE | ST DS
TIHE . Sz STRa250-15TR Toas s | 20 . TI4%
_ JREe R} Dimensions 15 Insert | 2} Shim | #Rék Sorew | FWrench | WRiSorew| Stock | orgar | Price fE— STR0Z50:207R 0 e
E@ ErETeRs o o c T T m = \.Vx /\. T R L [Number| (RMB) B §§§§§§§ STIRB0000.0TR &
HT) SNRILO007J08 9 7 | 53 | 110 | 15 | 64 | 1o | 0gnRIL - o | e |231100] 112 = o HET1
SNR/LO00BK08 11 8 | 66 | 125 | 15 | 7 - o | e |231102| 112
SNR/LO008K 11 11 8 6 125 | 15 7 e [ e [231103] 120 SNR 15°
YiH SNR/LOOTOK11 13 | 10 | 7.2 | 125 | 18 9 o | e [231104| 112 - & Y
TIE SNRILOOT2M11 16 | 12 | 87 | 150 | 18 | 11 15° | 1INRIL.. M2.5x7 | Ts o | o |231106| 120 ” Wk
SNR/LOOT3N11 15 | 13 | 8 | 160 | 18 | 12 o | e [231108| 155 steel
— SNRILO016Q11 18 | 16 | 95 | 180 | 20 | 15 o | o |231109] 155
Bl SNR/LOOT3N16 17 | 13 | 10.2 | 160 | 25 | 12 o [ e [231110] 155 BT
37 SNRILO014N16 17 | 14 | 9.5 | 160 | 25 | 13 o | o [231112] 155 PIFLIR S Y E=
SNRIL0016Q16 20 | 16 | 11.5 | 180 | 25 | 14.6 M3.5x10| T15 o | o [231114] 155 Internal Thread Turning
= SNR/L0018Q16 21 18 11.5 180 25 16.8 ) e | @ |231116| 155 ]
I= SNR/LO020R16 24 | 20 | 135 | 200 | 28 | 18.4 | 15° | 16NRI/L.. o | o [231118] 156 B
% B SNR/L0025S16 29 25 16 250 32 23.4 o | @ |231120| 156 0= 71K (Inserts): A51-A64  FE# (Toolholder Parts): P01-P04 BRAE (R) R-Type =
SNRIL0032T16 36 | 32 | 19.5 | 300 | 38 | 30 S o | o |231122] 220 —— = . ZEHl
—_— SNR/LO040T16 44 | 40 | 235 | 300 | 42 | 38 STVIEOSR| M3.5x12|  T15 | M3x8C | e | e |231124| 360 TEEe Rt Dimensions i 5°:‘" #FMench | Stock | order | Price B
4 SNR/L0050U16 54 50 28.5 | 350 50 48 231126| 520 i
Mg SNRLLIILTG LB B L = Orderingoode o T gg | § [ L [ L1 ]| H | o i &° Pad R (RMB) g
tIHl‘E SNR/L0025S22 31 25 18 250 32 23.4 . STMI603R T15 o | @ | 231130 220 SINR/L0612K06-15 6.4 12 | 4.3 | 125 12 11 06NRIL.. M2.0x4 T6 e |  [231200/ 300 &
1] B SNR/L0032T22 38 32 | 21.5 | 300 | 38 30 15° | 22NRIL.. | seoaL | M4-5X12| 150 M3x8C | o | @ | 231132] 360 SNR/L0816K08-18 8 16 | 5 | 125 | 18 | 14.6 08NRIL.. M2.2x5 T7 e | e [231202] 300 1] BT
245 SNR/LO040T22 46 | 40 | 255 | 300 | 42 | 38 o | o |231134| 520 /
24 oo e o e SNRILOOTOKTI-ATE | 12 | 16 | 7.2 | 125 | 20 | 14.6] TINRL o 56 s o | o 231204 165 12 457
_— N . N SNR/L0012M11-A16 15 16 | 8.7 | 150 | 25 | 14.6 B ) o | ® |231206| 165 —_—
N BRI E I (B ER R-8EEE) Carbide Steel Shock-Proof Toolholder(Shock-Proof Effect > 8 Times Toolholder Diameter) SNR/LO013N16-A16 | 16 | 16 | 10 | 160 | 25 | 14.6 16NRIL M3.5%10 T15 ® | o 231208 165 INFL
mT g:ggggg::gggj;zo GéA g 453 122 ;g 4.5 06NRIL.. M2x4 T6 e [ e [231138] 1250 SNR/L1516M16-A16 15 16 | 8.5 | 150 | 30 | 14.6 - : e | o |231210| 300 mT
- 7 o | e 231140 1410
_ SIRO008K-08C-1020 | 10 8 | 55 | 125 | 20 7 08NRIL.. M2.2x5 | T6 o | o 231142] 1410 —_
Sk SIRO008K-08C-10 10 8 | 59 | 125 | 20 7 o | o 231144| 1410 CNR 5
i SIR0010M-11C-12 12 | 10 | 7.4 | 150 | 20 | 9 TINRIL M266 | T8 © | e |231146] 1470 A R
EiE SIRO012M-11C-15 15 | 12 | 85 | 150 | 20 | 11 - : o e 231148 1760 e EIE
—_— SIR0016M-16C-19 19 | 16 | 1.7 | 150 | 25 | 14.6 © | e |231150| 2490
fore SIR0016R-16C-19 19 | 16 | 11.7 | 200 | 25 | 14.6 o | o 231152| 2790
SIRO020R-16C-24 24 | 20 | 13.7 | 200 | 30 | 18.4 16NRIL.. M3.5%10 | T15 o | o 231154 5700 N 128
%7] SIR0020S-16C-24 24 | 20 |13.7 | 250 | 30 | 18.4 e o 231156| 6600 RFLIBSE Y 7]
ek SIR0025S-16C-29 29 | 25 | 16.2 | 250 | 35 | 23.4 o | o |231158| 7500 Internal Thread Turning 3k
S
MEMH BRI (BHEHARAMEHER) Spring Steel Shock-Proof Toolholder (Shock-Proof Effect > 4 Times Toolholder Diameter) IS5~ 71K (Inserts):A51-A64 BB (Toolholder Parts): PO1-P04 ER5E (R)  R-Type
T-SNR0006J06 8 ; — im | #ge 3 BT Wrench
HE N T 0BNRIL.. M2x4 T6 o] o] Zmenl 100 nmEE R 5F Dimensions 71K Insert | #: Shim H_Sc;ew [ 5 Clamp| 84T Screw| i [ stock [[oraer | Price i
%) T-SNR0007J08 10 |7 [ 5.3 | 10 [ 12 | 6.2 08NRIL M2.25 | T6 o [ 231164 100 Ordoringeode |"op [@d | f | L [ L1 | H | o | 1™ o |~ [R[L pumber (RMB) H
T-SNROOOBKOS 10 | 8 | 55| 125 12 | 7 - : o e 231166] 100 - ZEH
T-SNROOOBKT1 10 [ 8 6 125 [ 15 | 7 o e 231168 120 CNRILO025S16 | 29 | 25 | 16 | 200 | 32 | 23.4 ML618 o | o 231309 280
CNR/L0032T16 | 36 32 | 19.5 | 300 | 38 30 STM1603R T15 | e | e 231307 420
T-SNROO10K11 12 10 6.6 125 15 9 TINR/L.. M2.5x6 T8 e | e 231170| 100 CNR/L0040T16 44 20 | 235 | 300 42 28 16NRIL... [ 3mw1e03L | M3.5%8 o| e 31304 600
T-SNROO12M11 16 | 12 | 6.8 | 150 | 15 | 11 o | o |231172| 120 ; MLe22 | PL25
: CNR/LO050U16 | 54 | 50 | 28.5 | 350 | 50 | 48 o | o 231304 1100
A7l T-SNROO13N16 18 | 13 9 | 160 | 22 | 12 231174| 150 o A7l
7 o\ CNRIL0025S22 | 31 25 | 18 | 250 | 32 | 23.4 | 15 HL1808 o [ 231304 280 #
] T-SNR0016Q16 20 | 16 | 105 | 180 | 25 | 15 e | o 231176| 150 ML618 | 140 I
16NRIL.. M3.5%10 | T15 CNRIL0032T22 | 38 32 | 21.5 | 300 | 38 | 30 STM22T3R " o | e [23131d 420 =41
T-SNR0020R16 25 20 13.5 | 200 30 18.4 e e (231178 | 170 22NRIL.. M4.5x10
2 | 22 | 133 ] 200 | 30 | 252 BuTel e CNRILO040T22 | 46 | 40 | 25.5 | 350 | 42 | 38 STM22T3L ViLo22 | PL25 || [231317 600
T-SNR0025516 ‘ ¢ ‘ & O LO CNRIL0050U22 | 56 50 | 30.5 | 250 | 50 | 48 o | e 231314 1100
SIEWHETIAF (BEMR>5EHE) High-Speed Steel Shock-Proof Toolholder (Shock-Proof Effect > 5 Times Toolholder Diameter) =i
FINR0006J06 8 5 4 [ 10 [ 12 [ 54 o e [231180] 250 SIR..P R
HNROOOBK06-A10 8 10 | 4 | 125 [ 25 | 9 OBNRIL.. M2xd i o | e 231182] 300 wiE ﬂ Eccentric : T == 3
HNR0007.08 10 [ 7 | 53 | 110 | 12 | 6.2 0BNRIL V225 | T6 o | e 231184 250 Steel g F A 1 i
HNRO008K08 10 8 55 | 125 | 12 7 - : e | o 231186] 250 - o Iy —e
i HNROO0K 11 10 8 6 | 125 | 15 7 * | e 231188] 270 FY. . L a - L
)1 HNROO10K 1 12 | 10 | 66 | 125 | 15 9 11NRIL.. M2.5%6 | T8 e | e 231190| 270 . Y&
1) i HNROO12M11 16 12 | 6.8 | 150 | 15 1 e | e [231192] 300 PIFLIR AL % ) ‘}F 1 L
HNRO013N16 18 13 9 160 22 12 e e 231194 400 Internal Thread Turning 8 iy “
HNR0016Q16 20 | 16 | 105 | 180 | 25 | 15 JENRIL e | o 231196| 500
. HNRO020R16 ég 3(51 122 ;go 30 | 18.4 - M3.5x10 | T15 o | o 231198| 800 IS 71K (Inserts):A51-A64 R (Toolholder Parts): P01-P04 ERA5H (R) R-Type
3 g 0 35 | 234 - K
iﬁﬁ HNRO025516 o | o |231199]| 1200 S e — 71 tnsert et Screw s | stock | oraer | Price 3y T
)8 Ordering code oD | od f L L1 h « ; \Q“ é‘ /\4 RIL (RMB) L
SIR/L 0007K08-12P | 10 | 12 | 7.7 | 125 | 18.5 | 11 o | e 231400 188
0008K08-12P | 10 | 12 | 8.4 | 125 | 21 | 11 OBIRIL.. M2.26.5 e o | o 231402 188
0008K11-12P " 12 | 8.6 | 125 | 21 11 15° e | ® [231404| 188
0008K11-16P 1" 16 | 10.6 | 125 | 21 15 e | @ |231406| 198
0010K11-12P | 12 | 12 | 7.4 | 125 | 26 | 11 1MIR/L.. M2.5%6 T8 o | o (231408 188
0010K11-16P | 12 | 16 | 11.7 | 125 | 26 | 15 o | o (231410 198
0012M11-16P | 15 | 16 | 11.7 [ 150 | 31 | 15 o | e 231412 198




1240 ZF HI R 45 B2 47 22 | W 57 2 ) SNEIMFLER S E T

Thread turning system External / internal thread turning tool

b BEDY — R © 0o
Internal Thread pEEs @ o O e Cuting biec808888 PER. . \
=y Cutting Environment (5 — #7) ® TREUH RSN o NI
» E] St e vervee FLAF 5 2 A »
$$%J M | F5%5 Stainless Steel © voBOOO Lever locking type O %i%
7] SEL tron o v v zeve
N | 58 %%/ 28 A Aluminum/CopperMagnesiumiZinc/PlasticWood o CEISEIST) 3 N
S | RRASMFAL Carbids/Powder Mstallurgy o £ e E[’}flﬁglp?iﬁgegmmad processing DI
csv o8 BN wsizaamas  Tnomswerioycanen cier 3 . e f & Ccsv
Thread Application: Threads for petroleum and ° |
%ﬁ natural gas industries L gﬁ
718 Wik : ET)RABHEF 718
T s 8= - I s |m= so_ e coes ;
Rettrm ARES Pitch | Dimension (mm) Ret#rm ﬂﬁﬂ? Pitch | Dimension (mm) |[a2285822388 Note: E is the tool helix angle —_—
os mensionng | spettcaton [P IR Q) Dimensioning i — T RB8RRREEERR DS
- L 0 L4-1 M6x18 PL30
T1HE P 22ER 10APIRD4 | 10 | ¢ | 2R 10APIRD=4 | 10 | ¢ |, forsfira a o ikl
77}‘ . BAPIRD-3 ' 8APIRD-3 s | s 032[17.1 . .o IS 71K (Inserts): A63-A64/B77  EE# (Toolholder Parts): P01-P04 ER%EE (R)  R-Type _
EH m[* E®E
HET : HE
- [S%° 714 (Toolholder): B78 0S¥ 714 (Toolholder): B79-880 Towr |
Y colhotaen {foothoreen PER 2525-175-B17A ‘ 70° | 25 2-3/8"~3-1/2" | 22ER10RD2-4 o | o 232250 1000 Y
3232-175-B17A 175| 38| 32 | 5° | 32 |26.5| 70° | 32 | <~ B B o | o [232251| 1300 TIE
3232-175-8178 175 38| 32 | 5° | 32 [26.5]| 50° | 32 | 4"~5-1/2" | 22ER8RD2-3 o | o [232252| 1300
s 3232475817C__| 175] 38| 32 | 5° | 32 |26.5] 30° | 32 | 6-5/8"~8-5/8" BE1Y o | o [232253| 1300 -
Inserts 3232-175-B17D 175 38 32 [ 5° [ 32 [26.61 157 [ 82 [ o o o, 22ER8RD2-3 o | o [232254| 1300 ﬁ.’,l
5BUT75 4040-175-B17D 175| 40| 40 | 5° | 40 |26.5| 15° | 40 |95 - o | o [232255) 1500 FH
SBUTT 3232-175-B17B10 | 175 38 | 32 | 10° | 32 | 25 | 60° | 32 | 4-1/2"~6-5/8" o | o [232256] 1300 —F
S = 32324175-B17C-10 | 175] 38| 32 [ 10° [ 32 [ 25 | 40° [ 32 7"~11-1/2" o | o [232257| 1300 E
AHERL 5202475817040 | 175 38| 32 | 10° | 32 | 25 | 20° [ 32 | . 22ER5BU2-2 BE17 o | o |232258] 1300 =
—_— R . " . 4040-175-B17D-10 | 175 40 | 40 | 10° | 40 | 25 | 20° | 40 3 o | o |232259 1500 —_—
g 2R S AT EE AR 3240-175-8238-10 | 175 38 | 32 | 10° | 32 | 25 | 60° | 32 | 4-1/2'~6-5/8" o | o [232260 1500 N
o . . . . 8 0 o olo
gl Thread Application: Thread for petroleum trapezoidal casing 3240-175-B23C-10 | 175, 38 | 32 10“ 32 | 25 40u 32 7"~11-1/2 27ER5BU2-3 523 232261 1500 ) fE
pepin 3240175823010 | 175| 38 | 32 [ 10° [ 32 | 25 | 20° [ 82 | . 0. o0, o | o [232262] 1500 e
. 2 _ : __ . 4040-175-B23D-10 | 175 40 | 40 | 10° | 40 | 25 | 20° | 40 o | o [232263] 1500 4
4 @l RemEw apms |#E| R Retm wmws |WE| RS $22-§08888 4
!!591 £ig Dimensioning Specification (|| CIbEm(i) Dimensioning Specification Piten | Dimension (mm) |85 F 22255 022 _Egel
B i toi) [z a [ x [ v i (tpi) [tsm] a [ x [ v [FOONNNNNNNN
gl;% 22ER 5BUT75-2 5 2 |o75°|2.05 [ 168 22IR 5BUT75-2 5 2 |075°| 1.14 1665 . .o ;jl;?é'
RIE TER Ay RIE
$ﬂ: 27ER 5BUT75-3 5 3 |o75°|246 (219 27IR 5BUT75-3 5 3 |o7s°| 246|219 . .o E*&f}ﬂ!%}i A 6 ﬂ
e Clamp locking type e
7] %7
IS5 714 (Toolholder): B78 0S8~ 7144 (Toolholder): B79-B80 AREIMRY M T =
Petroleum pipe external thread processing .
)
SME SME
=8 WEs EXNTIRBHEA B %)
Note: E is the tool helix angle
SIR..S.. % 1% a E || ] I
ki Square Shank @ - i
F‘]?L Steel L P\]:ﬂ"
ZEH » L 4 ZEHI
- b " y cL2 M5x20 @7x11 M4x8 32x10 PL30 T15
RFLIR LI ZE Y 1 )
Internal Thread Turning S
i IS 71K (Inserts): A63-A64/B77  FBE # (Toolholder Parts): P01-P04 ExAMB (R) R-Type
0S=" 71K (Inserts):A51-A64  FE# (Toolholder Parts): PO1-P04 ERABE (R)  R-Type
JmEe R~} Dimensions ﬂﬁgsert ”ﬁs”:w IERATE0d] Stock -
)48 Orderingeode  |gDnn gd | f | L [ L1 | h | b | @ = ‘ —~ [R[t TER 2525-17-BITA | 175| 29| 26 | & | 26 |21.5] 70" 26 |, oo ool o o | o [232264] 1000 )48
1] B SIR/L 0007M08-520 | 10 [ 7 |53 [150[ 22 [ 20 | 20 0BIRIL M2.2%5.5 T6 o [ o [231500] 188 3232-175-B17A 175 38| 32 | 5° | 32 |26.5| 70° | 32 | “~ B B o | o |232265| 1300 1] B
0008M08-520 | 11| 8 | 5.8 |150| 25 | 20 | 20 - o o | o |231502 188 3232-175-B17B 175 38 | 32 | 5° | 32 |26.5] 50° | 32 | 4'~5-1/2" | 22ER8RD2-3 o | o |232266| 1300
0010M11-S20 | 12 | 10 | 7.4 150 | 31 | 20 20 TR Y- . o [ o (231504 188 3232-175-817C__| 175| 38 | 32 | 5° | 32 |26.5| 30° | 32 | 6-5/8"~8-5/8" TE7 o | o [232267| 1300
W 0012P11-820 | 15| 12 | 8.4 | 170| 37 | 20 | 20 - ' o | o |231506| 188 3232-175-B17D 175| 38| 32 | 5° | 32 [26.5( 15 | 32 [ oo o o 22ER8RD2-3 o | o |232268 1300 M
e 0013P16-S20 | 16 | 13 |10.2| 170 | 40 | 20 | 20 TBIRIL Y s o | e (231508 188 4040-175-B17D 175| 40| 40 | 5° | 40 |26.5| 15° | 40 |77 - o | o |232269] 1500 e
= 0016Q16-520 | 19| 16 |11.7| 180 | 49 | 20 | 20 - : o | e [231510 188 3232-175-B17B-10 | 175| 38 | 32 | 10° | 32 | 25 | 60° | 32 | 4-1/2"~6-5/8" o | o [232270 1300 =
0007M08-S25 | 10 | 7 | 5.3 | 150 | 22 | 25 | 25 | 15° 08IRIL.. M2.2x5.5 T6 o | e [231512 198 az32-75-B17C+10 | 175] 38 [ 32 [ 10" [ 82 [ 25 [40" 32 [ 7~11-4:2" |, oo s o | o |232271| 1300
0008M08-S25 | 11| 8 | 5.8 |150| 25 | 25 | 25 o | e [231514 198 5232-475-B17D-10 | 175 38| 32 | 10° 82 | 25 | 20° | 82 | .o - TE17 o | o |232272| 1300
0010M11-825 | 12 | 10 | 7.4 | 150 | 31 | 25 | 25 11IRIL.. M2.5%6 Ts o | e [231516 198 4040-175-B17D-10 | 175| 40 | 40 | 10° | 40 | 25 | 20° | 40 - o | o |232273] 1500
0012M11-825 | 15| 12 | 8.4 | 150 | 37 | 25 | 25 o | e [231518 198 3240-175-B23B-10 | 175| 38 | 32 | 10° | 32 | 25 | 60° | 32 | 4-1/2"~6-5/8" o | o [232274] 1500
0016Q16-S25 | 19 | 16 |11.7| 180 | 49 | 25 | 25 16IRIL.. M3.5x7 T15 o | e [231520 198 3240-175-823¢-10 | 175[ 38 [ 32 [10° [132 [ 25 [40°[132 [ 7"~11-1/2" | o oo o o | o |232275| 1500
0020R16525 | 24 | 20 [13.7]200| 61 | 25 | 25 o | o [231522 198 3240-175-B23D-10 | 175| 38 | 32 | 107 32 | 25 | 207 [ 82 | .o : TE23 o | o [232276] 1500
0020R22-525 | 24 | 20 |15.6] 200 | 61 | 25 | 25 22IRIL.. M4x12 T15 o | e [231524] 298 4040-175-B23D-10 | 175| 40 | 40 | 10° | 40 | 25 | 20° | 40 o | o |232277] 1500




MZG®  Bazxuzs 2 457 ZE i) 48 457 22 | SME/RFLIRBIZE T]

Thread turning system External / internal thread turning tool

PNR.. 5 PNR..
AR B SRR 8
e Lever locking type Lever locking type "
ZH| o o I ] | ZHI
N C A
Sy 2 o N3
kel mwmammsmT i BE AL N T 7145
Petroleum pipe internal thread processing , Petroleum pipe internal thread processing
—
T A H R "
ES;Z il iyl IV o0t Lever LeverSorew | Wreneh [N | R ES%
ER Mtk : ENTIRIZHE A KR
43¥: ERTIR
78 L4-1 M6x18 PL30 ME: EXTIRRIER i L4-1 M6x18 PL30 Note: E is the tool helix angle b2}
Note: E is the tool helix angle L L
bs 0S¥ 71K (Inserts): A63-A64/B77 FEBE# (Toolholder Parts): P01-P04 ER%5E (R) R-Type 0S5~ 71K (Inserts): A63-A64/B77  FEE# (Toolholder Parts): P01-P04 ExRAE (R)  R-Type DS
TI4E NmEs R~} Dimensions mIzm TR Insert 712 Shim Stock NmEe R} Dimensions mIzm T Insert 712 Shim Stock TI#%
Ordering code L f A B @ D E Processing Range A R|L Ordering code L f A B © D E G Processing Range A R|L
IEE  PNR0040205:B17A | 205 26 | 80 | 40100 42 | 70° o | o [231630 1500 PNR 2538-285-B17A | 285 26 | 160 | 38| 105 | 25 | 70° | 62 ) i o | o [231668] 1500 &
N 0050-220-817A | 220 26 | 90 | 50 | 105 | 42 | 70° 5o3/8"51/2" o | o [231631| 1800 3249-285-817A | 285) 26 | 160 | 49| 105| 32 | 70° | 62 | 2-3/8"~3-1/2 o | o [231669| 1500 )
0060-225-B17A | 225 26 | 100 | 60 | 100 | 42 | 70° o | o [231632 2000 s2453358178 | 335| 31180 | 49130 82 | 50" |743[ T Tl o iopns o | o [231670 1800
0080-280-817A | 280| 26 | 150 | 80 | 105 | 42 | 70° o | o [231633| 2500 3655-335-8178 | 335| 31| 180 | 55130 36 | 50° |77.2 o ) o | o [231671| 1800
BN17
Y4 00402358178 | 235 31 | 80 | 40| 130 | 50 | 50° 22IR10RD2-4 o | o [231634] 1500 3240-363B17C | 363| 36 | 180 | 49 | 158 | 32  30° |74.3 i | 22IR8RD2-3 o | o [231672] 2000 Y
Wkl 0050-273-8178 | 273| 36 | 90 | 50 | 158 | 56 | 50° , « | 221R8RD2-3 BN1T o | o [231635| 1800 3ess-378-817C | 378| 36 | 200| 55163 | 36 | 30° | 82 | 6-5/8"~8-5/8" | 22|R5BU2-2 o | o [231673| 2000 L
_— 0060-273-B178 | 273 36 | 90 60 | 158 | 56 | 50° 4"~5-1/2 menU o | o 231636 2000 5249400817D | 400 52 | 280 | 49 | 158 | 32 | 30° [74.30 oo o | o [231674| 2500 _—
B 0080-300-8178 | 300| 36 | 140| 80| 158 | 56 | 50° - o | o [231637| 2500 4055400-817D | 400| 52 | 200| 55| 163 | 40 | 15° | 82 o | o |231675] 2500 B
E=) 0060278-B17C | 278| 36 | 100 | 60 | 158 | 56 | 30° oare oo o | o [231638| 2000 PNR 32493358238 | 335 31| 180 | 49 | 130 | 32 | 60° |74.3| u_p 1/on o | o [231676] 1800 e
0080-318-817C | 318| 36 | 140 | 80 | 158 | 56 | 30° ~5/8"~8- o | o [231639| 2500 3655-335-8238 | 335 31| 180 | 55130 36 | 50° |77.2 o | o [231677| 1800
e 0060-205-817D | 295 43 | 100 60 | 175 | 60 | 15° o5/ 13.3/8" o | o [231640 2000 3249.363-823C | 363 36 180 | 49| 158 | 32 | 30° |74.3 ) | 271R5BU2-3 o | o [231678| 2000 e
= 0080-335817D | 335| 43 | 140 | 80| 175| 60 | 15° o | o [231641| 2500 3ess-a78-823c | 378| 36 | 200 | 565|163 | 36 | 30° | 82 | 6-5/8"-8-5/8" | o Lannos BNZ3 o | o [231679) 2000 S
%W enRooso27aB238 | 273 36 | 90 | 50| 158 | 56 | 50° o | o [231642] 1800 32494008230 | 400 52| 280 | 49 | 158 | 32 | 80" [74.3[g Lo o oo o | o [231680| 2500 EHl
— 0060-273-8238 | 255| 36 | 90 | 60 | 158 | 56 | 50° 4"~5-1/2" o | o [231643| 2000 40554008230 | 400| 52 | 200| 55| 163 40 | 15° | 82 o | o |231681] 2500 =
IME 0080-300-8238 | 300, 36 140 | 80 |158 | 56 | 50° o | o [231644| 2500 INME
Y1 0060-278-823C | 278| 36 | 100 | 60 | 158 | 56 | 30° } .| 27IR5BU2-3 BN23 o | o |231645 2000 k|
] 0080-318-B23C 318| 36 | 140| 80| 158 | 56 | 30° 6-5/8"~8-5/8" | ,7|RgRD2-5 o | o |231646| 2500 ) BT
12 47 0060-295-B23D 295| 43 | 100 60 |175| 60 | 15 0-5/8"~13-3/8" ©| ©|231647| 2000 124
0080-335-823D | 335 43 | 140 80| 175 60 | 15° o | o |231648] 2500
L L
mI mI
——  TNR.. * TNR. . Mt
¥ . ) Kisk: EXNTIRIREHAA p¥ia
k7 ERSER - B ERHER Note: E is the tool helix angle %3
Clamp locking type Clamp locking type
128 B R T WiE: EXTIRBHE B c 4 A 128
i;]_ Pe(’ro\egum pwp;memalmread processing Note: E is the tool helix angle - ig_
KRR FRENELMT K<
Petroleum pipe internal thread processing
Ei iR AR ET PEY 73 it 45 EWEF | NEEF
B2 Clamp Clamp Screw Spring Shim Screw Pin Clamp Wrench | Shim Wrench EIN
i e | g | g gt | & | N~ o E3T
cL2 M5x20 o711 M4x8 22x10 PL30 T15 Earm R e
EiR R s ey 7 Ty EREF | NBEF
Qih IS 715 (Inserts):A63-A64/B77 TR (Toolholder Parts): P01-P04 Clamp Clamp Screw Spring Shim Screw Pin Clamp Wrench | Shim Wrench ERAEE (R)  R-Type gih
— R+ Dimensions P JIH Insert 71t Shim Stock _— ‘ w ‘3 ’ /\ P
Ordering code LT iTAalBelclol e Processing Range ‘ = CcL2 M5x20 o7x11 M4x8 22x10 PL30 T15 B
TNR 0040-205-B17A | 205| 26 | 80 | 40| 100 | 42 | 70° o [ o [231649 1500
0050220 B17A 220/ 26 | 90 | 50105 42 | 70° o810 o | o |231650| 1800 0S¥ 71K (Inserts): A63-A64/B77  EMH# (Toolholder Parts): P01-P04
o060-225-8174 | 225/ 26 | 100 60 | 100 | 42 | 70° o | o [231651| 2000 e [—— P 71K Insert nwshin | stock
0080-280-817A | 280| 26 | 150 | 80 |105| 42 | 70 o | o [231652] 2500 oo L 2 A
. 0040235-B178 | 235 31 | 80 | 40 | 130 | 50 | 50° 22IR10RD2-4 o | o [231653| 1500 N L/ flA|B|C|D|E|G g RIL i
v 0050-273-8178 | 273| 36 | 90 | 50 | 158 | 56 | 50° i . | >21R8rD2-3 N1 o | o [231654| 1800 TNR 2538-285-B17A | 285 26| 160 | 38| 105| 25 | 70° | 62 B i o] o [231681] 1500 t
Rl 0060-273-B178 | 273 36 | 90 = 60 | 158 | 56 | 50° 4"~5-1/2 o | o [231655 2000 3249-285-817A | 285| 26 | 160 | 49| 105 | 32 | 70° | 62 | 2-3/8"~3-1/2 o | o [231682] 1500 RLI
0080-300-8178 | 300| 36 | 140 | 80 | 158 | 56 | 50° 22IR5BU2-2 o | o [231656| 2500 3249335-B17B | 335 31 180 | 49 130 32 | 50° |74.3| v | 221R10RD2-4 o | o [231683| 1800
0060-278-B17C | 278) 36 | 100 60 | 158 | 56 | 30° o | o [231657| 2000 3655-335-8178 | 335| 31| 180 | 56| 130| 36 | 50° |77.2| 4""5-1/2 ™NiT o | o [231684| 1800
HE 0080-318-817c | 318| 36 | 140 | 80| 158 | 56 | 30° 6-5/8"-8-5/8" o | o [231658| 2500 3249-363B17C | 363| 36 | 180 | 49 | 158 | 32 | 30° |74.3 i | 22IR8RD2-3 o | o [231685 2000 S
g 0060-295-B17D 295| 43 [100| 60175 60 | 15° 0.5/8"-13-3/8" o | o [231659 2000 3655-378-B17C 378| 36 |200| 55|163| 36 | 30° | 82 | 6-5/8"~8-5/8" | 22|R5BU2-2 o | o [231686| 2000 g
0080-335-817D | 335| 43 | 140| 80175 60 | 15° o | o [231660] 2500 52404008170 | 400 52 | 280 | 49 158 | 32 | 307 [74.3o o oo o | o [231687| 2500
TNR 0050-273-B238 | 273 36 | 90 | 50 | 158 | 56 | 50° o [0 [231661 1800 4055400-817D | 400| 52 | 200| 55163 | 40 | 15° | 82 |°" - o | o [231688] 2500
0060-273-8238 | 255| 36 | 90 | 60 | 158 | 56 | 50° 4"~5-1/2" o | o [231662] 2000 TNR 32493358238 | 335 31 | 180 | 49 | 130 | 32 | 50° |74.3| 4u_o 4o o | o [231689] 1800
0080-300-8238 | 300 36 | 140 80 | 158 | 56 | 50° o | o [231663| 2500 3655-335-8238 | 335) 31 |180| 55|130| 36 | 50° |77.2 o | o [231690| 1800
0060278-823C | 278| 36 | 100 | 60 | 158 | 56 | 30° i | 27IR5BU2-3 TN23 o | o [231664| 2000 3249363-823C | 363| 36 | 180 | 49 | 158 32 | 30° [74.3 B .| 27IR5BU2-3 o | o 231691/ 2000
0080-318-823C | 318 36 | 140 | 80 | 158 | 56 | 30° 6-5/8"~8-5/8" | ,7|R8RD2-5 o | o [231665 2500 3es5-a78-823¢ | 378| 36| 200 | 55|163| 36 | 30° | 82 | 6-5/8"-8-5/8" | o oonios TN23 o | o [231692| 2000
0060-295823D | 295| 43 | 100| 60| 175 60 | 15° 0.5/ 13.3/" o | o [231666| 2000 32004008230 | 400 52| 280 | 49| 158 82 | 80" [74.3[ oo o | o [231693| 2500
0080-335-823D | 335 43 | 140 | 80 |175| 60 | 15° - - o | o |231667] 2500 40554008230 | 400| 52 |200| 55163 40 | 15° | 82 o | o [231699] 2500




